SCIENCE — PERIODIC TEST SET B
CLASS 6 — ANSWER KEY
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ANSWER IN ONE WORD OR ONE SENTENCE

carbon dioxide

feather, paper. Plastic ball, wood etc

This is because it forms ash and smoke and we cannot get back the incense stick.
No, (1/2) because the potter cannot get back the raw clay.(1/2)
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ANSWER THE FOLLOWING IN TWO SENTENCES

1. The metal rim which is used is slightly smaller than the wooden wheel of the cart. (1/2)
on heating the rim expands (1) and while it contracts it fits tightly onto the wheel(1/2)
2. Soluble; substances that dissolve completely in water ex. sugar, salt
Insoluble : substances that do not dissolve completely in water ex. stone , wood, sand



